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HRX 39,366 86,289 41,172 45117
RIRET1T 6 15 9 6
RIRET2T 27 56 26 30
AIEET3T 183 586 281 305
RIRET4T 417 990 489 501
B 633 1,647 805 842
REH 2,670 6,083 2834 3,249
L&A 4,245 9,357 4,381 4,976
5E 2,599 5,959 2,888 3,071
B AN 1,253 2,822 1,326 1,496
BERT 1,361 2,008 961 1,047
BER2T 777 1,422 694 728
BHERST 368 803 375 428
g 2,506 4,233 2,030 2,203
BARE 273 656 326 330
= 2,208 5,094 2,412 2,682
hERE 634 1,444 662 782
e 2,490 5,243 2,532 2,711
25 L ET 2,288 5,075 2,426 2,649
B &AL BT 76 153 63 90
HEFILET1T 562 1,201 560 641
HEFILET2T 617 1,337 629 708
HEZFILAT3T 638 1,445 718 727
g 1,893 4,136 1,970 2,166
B & it B Fr ET 685 1,600 784 816
BHEREBET1T 604 1,239 606 633
BHERERET2T 765 1,725 825 900
BHERERETST 773 1,627 734 893
HERERET4T 495 968 468 500
HEHFMHETST 829 1,712 805 907
HEHFHET6T 899 1,964 955 1,009
HEFRET7T 871 1,855 920 935
HERERETST 69 213 102 111
£t| 5305 11,303 5,415 5,888
HEF R FET 1,920 4,058 1,991 2,067
S|EFET1T 581 1,534 770 764
S|EFET2T 770 1,773 841 932
S|EFET3 T 752 1,441 659 782
g 2,103 4,748 2,270 2,478
ERE1T 582 1,365 656 709
EIRET2T 397 1,046 525 521
EREIST 508 1,341 652 689
EIRETAT 688 1,494 665 829
EIZEIST 517 1,051 537 514
g 2,692 6,297 3,035 3,262
MEH 2,857 6,324 2,990 3,334
J\THET1T 32 33 14 19
J\THET2T 26 59 30 29
J\THEI3T 54 118 51 67
B 112 210 95 115
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